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WINDOWS and PANES . . . and Bars

3 ... can be read ‘“Bar three”.

It means: draw Bars on the Windows so the Panes are
divided into 3 groups with the same number of Panes
in each group. Then report the number in each group.
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. and Bars

More “WINDOWS and PANES” . .
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“WINDOWS and PANES” . . .
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FENCE ARITHMETIC

r— T T T "7
< O 1O g
——+ —+ — + —
HORNORE\ONE\ON
-F—+ -4+ — + —-
HNONEE\ONE\ONRION
F—+ -+ — 4+ — -
F— N1 n !

L — 1L - 4 1

T - T T T
HONEA\ORE\ORNION
-+ -4+ — 4+ -+
BN NERNE N
-t =+ =+ —
TN — 1<t I M
-t -+ =+ —
<1 QI

[ I I

s B B
I — <<t O
-— — 4+ - + —
O NNANERN NI\ ON
F-—+-+-+ -4
NONEE\ S ARNE RN
- - 4+ - + — 4

HOVERONENNERION
e 4 - L _1_

LOOP ARITHMETIC

——— OO0V

——— OO0V

—— OOOVOO

———OOOOO

———OOO0OO

——— OO0OOO

||,|66666

_——_—— ——

33

27

30

|8

26

20

|3

CHAIN REACTIONS

(-1)30

® _®
@

'@ @ @

(+6)54

ONS

o)

6 (5
30(8)
40(4)

€10) 15

1,116

66,666
11,6.6666

D.
66,6
1,66

6/ 5 [23[60] 1.1.666

F[56]|15([24
H| 8 65|18

(4)20

1[36[32[ 4 [11)6666] 1,.6666




. Bars and Shading

WINDOWS and PANES . .

2. Shade this number

1. Use bars

2 «——

to make

of those groups

Shaded

3. Report the number of panes
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. Bars and Shading and Tags

WINDOWS and PANES . .
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Bars and Shading and Tags

WINDOWS and PANES . . .
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FENCE ARITHMETIC
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ANOTHER WAY TO REPORT

Windows and Panes . . . Bars and Shading
“1/2" can be read “one half"”’ “1/4” or ""one fourth” “1/5"” or ““one fifth”
“1/3"" can be read ““one third"’ “2/4" or "two fourths” “3/8" or “three eighths”
“2/3” can be read “‘two thirds"’ "“3/4" or “three fourths’ 719" or “seven ninths’’
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. Bars and Shading

WINDOWS and PANES . .
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Bars and Shading
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WINDOWS and PANES . .
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WINDOWS and PANES .

. . Tags . .
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“DOUBLE - TALK” . . . in Minutes (M)
Hours (H)

1 Hour=60 Minutes—l

minutes
hours

““One-half hour” is the same as ‘30 minutes’’
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sixths | tenths twelfths

fifths

thirds

halves

fourths [ i
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Please extend the patterns.
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There are different ways to talk about the same number of minutes.
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FENCE ARITHMETIC
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Cans (C)
6-Packs (P)
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DOUBLE-TALK . .
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More “DOUBLE-TALK"”
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Beanstick SHORTHAND
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BEANSTICK MULTIPLICATION in Shorthand

Please draw your own sketches.
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A kind of BEANSTICK DIVISION

means: Please show a rectangular arrangement of 42 beans in 3 rows.
Then report the number of beans in each row.
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FENCE ARITHMETIC
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MORE BEANSTICK DIVISION in Shorthand

Please describe the arrangements shown.
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More BEANSTICK DIVISION in Shorthand

Please draw the arrangements indicated. Then complete the report.
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BEANSTICK MULTIPLICATION and DIVISION . . .

and Related Examples

Please complete the report.
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BEANSTICK MULTIPLICATION and DIVISION . .

. and Related Examples

!

Please draw the sketches and complete the report. |
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BEANS I ICK MULIIPLICATION and DIVISION . . .

and Related Examples

Please draw the sketches and complete the report. |
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BEANSTICK MULTIPLICATION and DIVISION . . .

and Related Examples
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Please draw your own sketches.
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How do you feel ?
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Meter (M)
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Please complete the tables.

There are 12 inches in 1 foot
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There are 60 minutes in 1 hour.
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There are 100 cents in 1 dollar.
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How do you feel ?
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Rafts of 100 Pennies . .
. all arranged neatly in Rows and Columns.

. Sticks with 10 Pennies . . .

and Loose Pennies

How many pennies altogether? How many rows? How many in each row?

MULTIPLICATION

12 in each row.
/\

A A~
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(00000® 0OOO00.)00
(0000 O® oo_ooog.oo
How many pennies?
A shorthand sketch -
|2 ina row
X_|7‘rows
2‘3>"'finb0)t

AL B. C D E

F.

G.

2 out
iz Of bOX

Total

and

12

|7|______Bﬂ

H.

I J K L

194

204|104/260| 310

308

364

364

81 [540|126|612

204

1941204(206(364

364

312

210

30 [440(621|62]

38

26
_______ 7 N
{
|
|
[
14
!
} ® 6 & o o o
| DD
L ® O ¢ o o o
26 in a row | 4
X 14 rows also x26
_ _ __ in box ____F
____ out of box
_ __ _ Total 26 14
|4)__ e 26L o
e & o o
27 ina row 23
X23 rows -» also-» X 27
~~——_— in box ____L
out of box
Total

27 23
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29 ina row

|
X13 rows x 2

OW

D____ in box

F____ Total 29 13

in a row 5 l
rows x 19 | |3___ 29_.__
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in box

out of box

Total 19 25
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BUILDING and USING TABLES

0] I 2 3 4 5 6 7 8 9
x 6 x 6 x 6 x 6 x 6 X 6 x 6 x 6 x 6 x 6
0 6
0 1O 20 30 40 50 60 70 80 90
X 6 x 6 x 6 X 6 X 6 X 6 x 6 X 6 x 6 X 6
0 | &0
30+2= 32
30 2 32 40 8 1O 9
X 6 x 6 X 6 X 6 x 6 x 6 x 6 x 6 x 6
20 s
180 +12 =192 A, B.
90 6 80 3 70 5
x 6 X 6 x 6 x 6 x 6 x 6 x 6 x 6 x 6

C.

S0 64 29 57
x 6 x 6 X 6 ) X 6 X 6 x 6 x 6 x 6
C. B. A.
Please complete the following as True Statements . . using single digit numbers only.
note
40 6x5 + 4 50= 8x 4+ 25= 4 x 7 = E
H.
50=_9 «x + 40 = 35 x + 60 =_7 x -
E. L
25 = 3 x + 5= 9 «x + 49= 6 x -

——— _——— -
60= 8 x + 33 = 5 x + 53 = 7 x -

- - ——_——— ———-
30= 4 x + 3l =_ 3 x + 7= 2 x -
70= 8 x + 87 = 9 x + 45= 7 x -

e TTED T T

A. B C. G. D H E_I F
342|114 (384 9,6|8,3|6,2(55|7,4|7,4
288(174 |576 8,6|6,4(83|9,6|7,5(9,3




BUILDING and USING TABLES

0nom \pXe)]
o, %9 o~ ~~ (o)
x x Y4 < PO
o oY0)) o, (02} (o)) (0)]
b2 @ x x *
~O o, (o)) » (6)]
* - * x x PYd
OM om
© *
> oY) <o —o
—_ Te) (¢)]
* x pY4
nom om
b 5X
(0] (¢)] (0))
* * =
T %9
* »
(o)) (0)) (0)]
< = =
oM ol
x M x
4\ o)) o, A (0)X6)! oM
bY4 N 3X 8X < v
—M oo, (0)) (o)} (o)}
< T x = < <
om om o)) (0)] o))
= Y4 pYs

CHAIN REACTIONS

l‘\ ,‘I

oloNoJoK
,

_

+7

Pl 5

b 2

3 (x8) |
JOD

2l (7%2)

G.

QOK

A6

L)
)

QOL

(Xe) (2o 4

=9

63

9

10

288 (486|603 162 (657 | 25 | 80!

6

42



BUILDING and USING TABLES

) | 2 3 4 5 6 7 8 9
X 7 X7 X7 X7 X 7 X7 X 7 X7 X7 X7
0 IO 20 30 40 50 60 70 80 90
X 7 X 7 X7 X7 X 7 X 7 X 7 X 7 X 7 X 7
36 74 65
X 7 X 7 X 7 X 7 X 7 X 7 X 7 X 7 x 7
A. B.
48 59 87
X 7 X 7 X 7 X 7 X 7 X 7 X 7 X 7 X 7
C. A
97 68 95
X 7 X 7 X7 x 7 x 7 X 7 X 7 x 7 X 7
B. C.
Please complete the following as True Statements . . using single digit numbers only.
note
35 = X +  40=_6 X _+ ___  70=_8 x -
5 :
37 = X + 75 = 9 x + 53 = 7 x -
“TE T T A
52 = X + 39 = 5 x + 33= 4 x -
59 = X + 70= 8 X + 5l = 8 x -
76 T o, e T
44 = X + 47 = 5 x + 75 = 9 x -
_—— ——— -
66 = X + 53 = 6 x + 50= 7 x -
W T T T Tam T
A. B C. G D H E I F
252|679 | 665 7,5/8,3/7,3|7,2|8,6|8,3
609|518 |336 9,5|8,6/9,6(8,5|8,3|6,4




BUILDING and USING TABLES

|4 |4 |4 |4 |4 |4 |4 14 |4 14
x O x | X 2 X3 X 4 X5 X 6 X7 x 8 x 9
0] | 4 e
14 |14 14 |4 14 |4 |4 14 14 |4
5__(_)_ x|O x20 x30 x40 x50 x60 x70 x80 x90
SHRES
| 4 |4 14 |4 | 4
x28 X 57 X 43 X 58 X 74
A R e
=+ A. B. C. D.
14 |4 |4 |4 14
X 63 x 59 x 86 X 9l x 67
E. F. G.
CHAIN REACTIONS
IOIONOICNOIONOIOE

44

M.
A. F. B J G. C. K. H L. D M I E.
392 (1204|798 42 1938|602 36 | 30 | 60 (1036( 37 | 5 |882




BUILDING and USING TABLES

29 29 29 29 29 29 29 29 29 29
x O x| X 2 x 3 x 4 X5 x 6 x 7 x 8 x 9
29 29 29 29 29 29 29 29 29 29
x O x |0 x20 x30 | x40 x 50 x60 [ x70 | x80 | x90
29 29 29 29 29
x 29 x 92 x 83 x 38 x 55
A. B. c. A.
29 29 29 29 29
X 46 X 64 X |7 X 71 x 88
B. c.
Please complete the following as True Statements . . using single digit numbers only.
note
40= 7 «x ____ 46=_5x + ___ 50=_7 «x *
D. F
40 = 6 «x L 65 = 9 x + 40 = 6 x -
E. A
50= 7 x o 65 = 8 «x o 60= 8 x -
F.
50= 8 x L 38= 5 x + 60= 7 x -
6. :
47 = 7 x L 85= 9 x + 45=_6 x .
H. 1.
60 = 8 x . 85= 10 x + 99 = 10 «x -
AL B C G. D E. L F.
or 841 [1334(240 or 72/55(!6,5|9,4|7,2|8,6
110226682059 6,2(8,19,3/6,4|8,3|7,1




BUILDING and USING TABLES

83 83 83 83 83 83 83 83 83 83
x O | x| X 2 x 3 x 4 x 5 x 6 x 7 x 8 x 9
83 83 83 83 83 83 83 83 83 83
x O x10 x20 x30 x40 x50 x 60 x 70 x80 x 90
83 83 83 83 83
x| 3 x 31 X 76 X 67 x 55
A, B C. D
83 83 83 83 83
x 28 x 82 X 49 x 94 X 65
E. F. G.
CHAIN REACTIONS
VY
8 (o) (w2 (1) (5 (D) (1) (o) 63
H.
43 (cs)2 7)x8) 56
T
12 OONOD 40
J .

1079

46



BUILDING and USING TABLES

23 23 23 23 23 23 23 23 23 23
x O x| x 2 x 3 x 4 x5 x 6 x 7 x 8 x 9
23 23 23 23 23 23 23 23 23 23
Xx O | xIO | x20 | x30 | x40 | x50 | x60 [ x70 | x80 | x90
x 43 x 28 x 58 x 86 x 74
x 91 x 67 x 99 x 65 x 59
Please complete the following as True Statements . . .
using single digit numbers only.
35=_ 4 «x + 78=_8 x + 67 = X +
35= 6 x + 3l = 7 x +t 39 = X +
51 = 7 x +  84=_ 9 «x +  75= X .
”7 = 9 x + 38= 5 x +____ 43 = X +____
27 = 4 x + 40= 6 x + 60 = X Y.
67 = 8 «x + 48= 5 x + 59 = X +

47




“Check List Addition”

Please use the smallest whole numbers possible in the boxes.

32 16 8 4 2 | 27 9 3 | 125 25 5 |
7 8 20
A. (xa)+(1x2) * (Ix1)=7 E. (2x3)+(2x1)=8
32 16 8 4 2 I 27 9 3 I 125 25 5 I
|4 |6 40
B, 3
32 6.8 4 2 | 27 9 3 | 125 25 5 |
2l 24 60
C. G H.
32 16 8 4 2 | 27 9 3 I 125 25 § |
28 32 80
D. L
32 16 8 4 2 I 27 9 3 I 125 25 5 I
35 40 100
A J.
322 16 8 4 2 | 27 9 3 | 125 25 5 |
42 48 120
B. E.
32 16 8 4 2 | 27 9 3 | 125 25 5 I
49 56 140
F
32 16 8 4 2 | 27 9 3 | 125 25 5 |
56 64 160
C G. H.
32 16 8 4 2 | 27 9 3 | 125 25 5 |
63 72 180
D. i} J.
A, E. I B. E J. C. G. H. D.
000, 00,22 | 2200 [ 100040 | 20,02 | 1, | 1000 2400 | 0,220 [ 0,100
LOOOM! 1200 | 0340 [0040 | 0,30 | 12,0 [04010, | 0220 | t120 | 1,41
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“Check List Addition”

Please use the smallest whole numbers possible in the boxes.

6 4 I 6 4 I 36 6 | 36 6 I
Jlale 14 2l 22 33
(2x4)+(2x1)=14 A E. F
6 4 I 16 4 | 36 6 [ 36 6 I
24 30 42 48
B, C. G. H.
6 4 | 6 4 | 36 6 | 36 6 [
36 50 73 80
D.
49 7 [ 49 7 I 64 8 [ 64 8 |
20 3l 15 35
I J. C. D.
49 7 | 49 7 | 64 8 | 64 8 I
25 40 60 47
E.
49 7 | 49 7 | 64 8 [ 64 8 I
48 63 89 130
A B. F G.
8l | 8 9 | 100 10 | I00 10 |
44 60 87 (20
H. I.
8 9 | 8l 9 | I0O0 10 | {00 10 |
52 69 715 896
8 9 I 8/ 9 I 00 10 | 00 10 |
80 160 640 999
J.
A. E. H, B. F. L C. G. J. D.
066 034 | 1,20 1,20 | 1,31 | 0,26 | 1,3,2 202 | 1,87 | 302
Ll (0,57 048] 1,20]0,53 066 | 0,7 | 1,1,0 [04,3 043

49



“Check List Addition”

Please use the smallest whole numbers possible in the boxes.

50

28 64 32 16 8 4 2 | 8l 27 9 3
35 35
A. B,
64 16 I 36 6 I 49 7
35 35 35
125 25 | 64 8 I 8 9
35 35 35
E.
28 64 32 |6 8 4 2 | 8l 27 9 3
60 60
A. B.
64 |6 I 36 6 | 49 7
60 60 60
D.
125 25 | 64 8 | 8 9
60 60 60
E.
28 64 32 16 8 4 2 I 81 27 9 3
80 80
A B.
64 16 | 36 6 | 49 7
80 80 80
C
125 25 | 64 8 | 8l 9
80 80 80
D. E.
A. B. C. D. E.
0,,0,,0000| 0,2,0,2,0 0,2,0,3 1,4,0 0,38
001000, | 02222 14,3 0,,2,0 0,88
00,,,100 | 0,,0,2,2 0,3.3,0 1,2,0 0,6,6




CHANGE and STAMP Problems

Rules: Show a combination of Coins or Stamps

for the amounts shown . .
of Coins or Stamps indicated.

. with exactly the number

Number of le||8¢||4¢||3¢|]1¢ Number of
— . . COINS —_—— STAMPS
Moyt 1 e3e(7) Ly ot [ 1ee (6)
| I 23¢ (10) i 6¢ (5)
L 1L [ ese(is) Lo L o | ee (4)
1 I T T T l i I
sl bt isse(n) o p n 1 | ese (8)
T T ¥ T } | | :
| 3se(9) ol Lt [ 25¢ (4)
i I N 35¢ (5) 11 256 (5)
T e
|
L pee@@) s L L e (8)
F. | : : | 41 ¢ (16) : ' ﬁ[ | 3i¢ (6)
I 41 ¢ (13) Bl 0] 3¢ (5)
@ 20¢| |lie| [5¢]||a¢| | 3¢
; L [} T I T T — 1
L 57¢ (4) Ly 4 1 [45¢ (9)
R 57¢ (17) L, o+ . |45 (8)
o R 57¢ (24) i 45¢ (10)
There may be other combinations than those shown below.

A. B. C. D. E. E
0,0,04,3 ] 1,1,1,1,1 [0,0,1,7,0| 00,222 | 1,1,02,2]0,0,1,4,!!
0,0,5,0,3| 0,0,2,30 [0,0,0,2,13| 0,0,16,/7 | 0,1,0,2,2| 0,1,2,3,4
0,1,00,0] 0,0,,1,8 | 1,0,0,1,2 | 0,3,0,0, | 0,0,2021| 1,0,0,1,2

51



“Check List Addition”
Please use the smallest whole numbers possible in the boxes.

52

128 64 32 16 8 4 2 | 8 27 9 3 |
40 40

64 16 4 | 6 6 49 7 |
38 32 37

125 25 5 | 64 8 8| 9 |
86 57 69

28 64 32 16 8 4 2 | 8l 27 9 3 |
\ ’ \ 132 98

64 6 4 | 36 6 49 7 |
100 75 89

125 25 5 | 64 8 8l 9 |
180 62 75

128 64 32 16 8 4 2 | 8l 27 9 3 |
77 63

64 16 4 | 6 6 49 7 |
56 85 99

125 25 5 | 64 8 8l 9 |
124 127 160

How do you feel ?



BUILDING and USING TABLES

O | 2 3 4 S 6 7 8 9
x 8 x 8 x 8 x 8 x 8 x 8 x 8 x 8 x 8 x 8
0 10 20 30 40 50 60 70 80 90
x 8 x 8 x 8 x 8 x 8 x 8 x 8 x 8 x 8 x 8
Please use the “scribble space’” . . if you want to.
::_' ': :;5 A B.
8 |_'+§J3__ " 8(3,7.6_ 811,0,4
C. D. E.
8(3 0 4 8(7 5 2 815 2
—_— - —— — = — - - — -t -4 -
F
816 .88 8(4 7 2 85,76
e e —— — — - — e —
On your Own . . . all the way.
P o | 2 24 48
x 8 x 8 x 8 x 8 x 8 x 8 x 8 x 8 x 8
SO s 2L
23 46 92
x 8 x 8 x 8 x 8 x 8 x 8 x 8 x 8 x 8
A B C D E F
47 | 13 | 38|94 | 65 | 86
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BUILDING and USING TABLES

) | 2 ) 4 7 8 9
X 5 x 5 X 5 x 5 x 5 X 9 X S x S x 5
0] 10 20 30 40 50 70 80 90
x 5 x5 x 5 x S x 5 x 5 xS x5 x 5
Please use the ‘‘scribble space” . . . if you want to.
A B. c.
511,0,5_ 5 |_2_+l+O__ |_3_.§+5_ B
D. E. F.
S(1,2.5_ 5 _2_’4_»4_0__
G. H. I
514,75 _ 5 3

CHAIN REACTIONS

OO

O

(+8) 71

<«

86D (D)
o)

67)
069 (9 (9

(+9) 82

(5 ®

- PEPEE
gojelele

+ +6) 53
M.
A. B. C. D. F. I K. L. M.
9 |40 | 69 | 12 | 48 | 57 | 83 88 36 | 45 | 30
21 |42 | 61 25 | 50 | 46 | 95 62 35 |46 | 29
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BUILDING and USING TABLES

0 | 2 3 4 ) S) 7 8 9
x 9 x 9 x 9 x 9 x 9 x 9 x 9 x 9 x 9 x 9
0o 10 20 30 40 50 60 70 80 90
x 9 x 9 x 9 x 9 x 9 x 9 x 9 x 9 x 9 x 9
Please use the “’scribble space” . . . if you want to.
A. B. c.
911.0.8. °l2,7.9. 911.2,68.
D. E. F
o(8,1,9. 916,7.5 912,43
G. H. I
919,04 9ls, 1.2 9|7.7.4.

<~

x

~

OFORORO),

ES

- PPPP
gejejele

= ORONOR )
OO E

. B D. F H L J K. L. M
3| 32 89 | 75 |27 56| 65|85 31 |45| 351 40
2 | 3l 9l |68 |30 | 55| 68|86 | 30| 44| 34 | 4|




““Check List Addition”
Please use the smallest whole numbers possible in the boxes.

56

128 64 32 |6 8 4 2 I 8 27 9 3
50 50
B.
64 |6 | 36 6 | 49 7
50 50 50
D.
125 25 I 64 8 I 8 9
50 50 50
E.
128 64 32 16 8 4 2 | 8l 27 9 3
75 75
B.
64 16 | 36 6 | 49 7
75 75 75
D.
125 25 | 64 8 | 8l 9
75 75 75
E.
128 64 32 16 8 4 2 [ 8 27 9 3
100 100
B,
64 |6 | 36 6 | 49 7
100 100 00
D.
125 25 I 64 8 [ 8 9
100 100 100
C. E.
A, B. C. D. E.
0,,1,0,0,00| 0,2,2,1,0 0,3,0,2 1,2,2 0,8,3
0,,0,0,,0,,! 0,,2,1,2 1,4,4 1,3,5 0,6,2
0,0,,,00,0| 1,0,2,0, 1,0,2,3 24,4 1,2,1




BUILDING and USING TABLES

47 47 47
X 2

47 | 47 | a7 | a7 | a7 | 47 | a7 | 47 | a7 | a7
x O x10 x20 | x30 x40 x50 x60 x70 x80 x90

B S
t L/ e ‘L e ° ) ° e ° ) o
v T

Since “O” will be written where you find a ““e”, you can leave a space.

47 a7 47 47 47
X A. X B. X C. X D. X
275
316 357c 1833 4324 2209
47 47 47 47 a7
X E X X F X X G
4465 2632 3478 3149 390

CHAIN REACTIONS

2() @ D (R (E@):2
HOOMO®, (e)Xe3) :

64 (el) (o)) ()Xo 2

Co)es
80 (105 [@0)c9) 10




BUILDING and USING TABLES

25 | 25 25 | 25 | 25 | 25 | 25 | 25 | 25 | 25
x O X | x 2 x 3 x 4 x5 X 6 X7 x 8 X9
O | 25 | 50 | 75 | 100
5 | 25 | 25 | 25 25 | 25 25 | 25 | 25 | 25
x O x| 0 x20 x 30 x40 | x50 x60 | x70 | x80 x90
250 | 530 | 750 1000
4 B. C.

25[1,075 25/ 950  25(1.875 25[1.700
LB, AR —— S
——0—4-"—0—:;—- —_—— - —— - —_— -+ = — = — —_—r— - = —
— 4 — —— —_ ——t —-——_—— —_———t — = -

D. 7 E. F.

25 |_2_,:”_F0ﬁ9_ 25|2,1,00 25(1,625  25[2425
—_— - — - —— — - = — - - — -+ —— 4 —-
—_e—f e o = p— - —_— = —— - —_—*t A — 4+ — — 4+ —— 4+ —

8l,9 | 8,9 | 8 ,9 .| 8 ,9 |
It i2|e2 (01313 0717 01616
G. H.
8,9, | 8,9, | 8l , 9 | 8,9, |
0!518 01818 11116 01417
L. J.
8l,9 | 8l , 9, | 8l 9 | 8l , 9, |
' [ ] 1 |
R E: .+ |100 1|75 |42
K. L. M.
8!,951 8,9 , I 8|,9!I 8,9 |
' |85 | e2 |7 1|50
N I 5 ! ]
F. A. E. B D. C. G. L. H M L N. J. 0. K.
97 |43 |65 |38 |92 | 75 | 70 |1,2,1| 60 |0,8,3| 80 |0,9,4| 96 [0,78/0,3,8

58




CHANGE and STAMP Problems

Rules: Show a Combination of Coins or Stamps
for the amounts shown . .
number of Coins or Stamps indicated.

. with exactly the

Number of 6¢| | 8¢| |4¢||2¢]| ] 1¢ Number of
T T T T C(\)IIINS T : | . STANJES
Moo b [ a7e (1) L [ 3te (5)
S ot b l9ese¢ (9) B r b o3g (g)
i ; T T }7 { I jl
oL 68¢ (32) i 40¢ (7)
8l¢| (27¢| [9¢| | 3¢ ]| I¢
T T T T T T T T
ALt s40 () b 50¢ (6)
T o I ) T T | S— —
. I
L, sieo () L, . | |soe (8)
Bl g7 (13) o 1 I ]s100 (8)
13¢[ |12¢| [9¢ | [ D¢ | | 2¢
T T T T ] | ! |
E | I I | I | | I
b 71¢ (25) L 27¢ (4)
Lo b 1 s160(15) L b [ 49e (5)
Lt 1 90¢ (30) L b 1 e2e (1)
@ o¢| (8¢ |7¢||4¢] 3¢
T T T T I T ] [}
o ' $1.82 (10) E. { : j' | 57¢ (13)
o b 1230 (12) i 69¢ (13)
T T T T T 1 I I
oL bbb 13155 (15) o 75¢ (13)
There may be other combinations than those shown below.
A. B. C. D. E. F
,04,00 | 1,1,1,1,5 |2,2,2,2,2| 1,0,1,24| 1,0,,1,1 | 1,3,09,0
0,0,0,87 | 1,1,9,1,1 1000,9,23| 1,2,34,5 |0,0,2,7,16 | 0,3,4,00
0,51,05 |0,22,2,5 [0,2,22.2 | LLL,L,I |02,209 |14,00,10




BUILDING and USING TABLES

0O

i —&
x »
o O

oo | |23
x =
M~ sm
— >
O

@© —®
x o
(oolTe) 8R0u
x PO
o< @ O
— —<
x e
0O

@r 2P
x Pod
o O
— |w
w0 — @ O
— -~
0O o O
=~ — =

—_ —)——

- =+

—_——* = — —

——— — - —

—_ e —|— -

——

-

—- -

1.63,2

18

_.6.6.86

18

|18

1,044

——f— -+ —- - = 4 —+—- - - =

-—t—— —+—-

8, 9 |

8, 9

8, 9,

64, 8 . |

64, 8 |

64, 8

9l

7,

49,

49, 7 ,

49 7

[ _ ]

71

6 .

36,

36, 6 ,

36, 6

36,

How do you feel?
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DIFFERENT WAYS to Talk and Write about
the Same Amount of Money.

$ 1.00 $ 50 $ 25
] - —— - Il
M M ME
O D.| DIMES 5 D| DIMES ZLZD.
10 ¢ A ¢ |B.
$ E $ . $ . $ . $ $ . $
« L ¢ 3 | (« 2 | & 1 & 3| & 7 . 4
*s5 | o) ¥ 5] PPz | P*s5. ] [Poo| Ps |
2 D D. D.|a F D.|c D.|E D|6 D
¢ |F ¢ls ¢|8 ¢|D. ¢|F ¢(A. B ¢
$ . c $ E B F $ G. $ . c $ D. F|$
s 2 | s | ls2 | s s Z | &1 [s
10 ] [~ 20 | _“ZQT v ” 20 | F_ZO__ o
| 1 1 1 1 1
IR A - I SO A S S (- N s N B
¢ 5 ¢ ¢ ¢|B ¢ tE @ ¢
$ . A $ . B. $ . D. $ . F A B. C. D. E. F. G.
- = — — = - 4 |25(.35| 1 | 05| 60].25
$ 700 $ 50 $ 00 $ 35 50 (80| 5 |03| 6 | 20|55
T T T 7 T T T 7 5 1 i,ﬁ
Lo Dc. DJE DJs. 50'2| 02| 1 | 9 |45].04 |i5's
I Ot N I R 70 [ 40 [Bi]45 [.20] .5 | 7
I ¢ 2 ¢ 3¢ 4 ¢ ol |25].90] 50| 5| 55| 3
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l & | &
f—r |
- ol
|

o |

IQIQ
|
|
L

T o | &

O

|

| &

|

lcnlr\)-

|

PPS

|

[

|

[ &

|

l<J1|<.~1

i

2 D D. D. D. L DJ
¢ ¢

Multiplied by 2 = — = Multiplied by 5 =

.80 60 |.

Divided by 3 = — — —

—| 9|
Nlo

20

o
3N &|S(S|»
54|~ (gl

[¢,1[Y)

ool 8|8 |5

40 50 | 60




Tl &
| — |

1ol

oF*.

D.

M
@ D.

$ L
D.

5
D.

S
* 10 _
D.

Multiplied by 6

Divided by 2

A
* o

$
D.

D.

s |

$
D.

A.

m

& | ¢»
le:-
1

—
IO

-
M
D.

E.

o

Multiplied by 4 =

F

H D.

L

E]$

F[$
D.

G.

T

80

I [1.20

o
ol

.30

(0]
o

3
10

140

110

100

120

130

40

20

90

.30

70

50

ool W

140

10

100

.90

IOJ o— OI‘D

120

o

o

.60




CHANGE and STAMP Problems

Rules: Show a combination of Coins or Stamps

for the amounts shown .

number of Coins or Stamps indicated.

. with exactly the

Number of 9¢|[8¢||7¢|[6¢[[5¢ Number of
COINS STAMPS
T [ | | N | T | T
ML b b Is130 (12) Lt | |sse (i0)
I | | v I ] [ T
v Isi150 (18) .+ leoe (8)
1 |s140 (1) o 57¢ (7)
EEE®® S EEEE
I 1 T | T T I
b v b Is1.90 (18) o b [ e9¢e (8)
1 1 L 1 | I 1 |
.+ . [s220(20) L [ 72e (12)
ol vt lg1.90 (23) o 71¢ (1)
PEE®O SR EEE
T T T T I | { |
L L [s1a4a(27) "L 1' 82¢ (10)
L, L, [s320(24) -y 72¢ (12)
L L1 580 (2] Lt [7oe (0)
EEE®® A HHEE
I I 1 1 1 I 1 LI
L L, |$245 (29) . : . |s100 (12)
Moy b [s235 (27) o 100 (14)
1 I 1 1 I 1 I |
L Y |$200 (34) ot v ls100 (I5)
There may be other combinations than those shown below.
A. B. C. D. E. F
2,2,092 | 200,08 |0,0,4,4,4|0,5,2,7,1 | 1,23,4,5]8,0,0,0,2
1,1,1,9,0] 2,22,2,2 [30,0,5,15| 6,1,1,0,0 | 5,4,3,2,1 |11,0,0,0,0
0,0,20,7,0| 9,0,2,0,1 | 0,3,0,8,0 [0,0,200,0| 0,8,8,8,0| 1,3,4,6,!
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